

## Taylor Series

Author Aaron Tresham  
Date 2017-06-12T20:21:54  
Project 9189c752-e334-4311-af99-695b6159628a  
Location 15 - Taylor Series Assignment/Taylor Series Notes.sagews  
Original file Taylor Series Notes.sagews

### Taylor Series

**Definition:** A power series centered at  $x = a$  is a series of the form

$$\sum_{n=0}^{\infty} [c_n \cdot (x-a)^n] = c_0 + c_1 \cdot (x-a) + c_2 \cdot (x-a)^2 + \dots$$

where  $c_n$  and all the  $c_i$  are constants.

Notice that a power series is a function of  $x$ . The domain is all values of  $x$  for which the series converges. There is always at least one number in the domain, namely  $a$ .

You can think of a power series as a polynomial with (possibly) infinite degree.

One of the nice things about power series is that it's easy to differentiate and integrate them. Just like regular polynomials, you can take the derivative or integral of each term first, and then add up the results.

$$\frac{d}{dx} \sum_{n=0}^{\infty} [c_n \cdot (x-a)^n] = \sum_{n=0}^{\infty} \frac{d}{dx} [c_n \cdot (x-a)^n]$$
$$\int \sum_{n=0}^{\infty} [c_n \cdot (x-a)^n] dx = \sum_{n=0}^{\infty} \int [c_n \cdot (x-a)^n] dx$$

#### Example 1

A geometric series with  $x$  as the common ratio is a simple example of a power series ( $a = 0$  and  $c_i = c$  for all  $i$ ):

$$\sum_{n=0}^{\infty} c \cdot x^n$$

We know when this series converges and what it converges to:

$$\sum_{n=0}^{\infty} c \cdot x^n = \frac{c}{1-x}$$

provided that  $-1 < x < 1$ .

So  $\sum_{n=0}^{\infty} c \cdot x^n$  is a function with domain  $(-1, 1)$ . On this domain, this power series function happens to be equal to the function  $f(x) = \frac{c}{1-x}$ .

### Taylor Series

This raises the question of whether other functions are equal to the sum of a power series (at least for part of their domains).

In other words, given a function  $f(x)$ , can we find  $c_i$  so that

$$f(x) = \sum_{n=0}^{\infty} [c_n \cdot (x-a)^n]$$

for some interval of  $x$ -values?

This process of representing a function by a power series is called "expanding" the function into a series. The power series you get is called a **Taylor series expansion** of  $f(x)$ , after mathematician Brook Taylor (1685-1731).

Expanding functions into Taylor series and differentiating and integrating the series had a number of applications back then. For example, you can use Taylor Series to approximate the values of numbers like  $\pi$  and  $e$ . Or consider the logarithmic and trigonometric functions. These are often difficult to calculate, but if you expand these into Taylor series, then you can approximate values of these functions using only polynomials (and polynomials only require arithmetic to calculate).

Fortunately, finding the right power series to represent a function is fairly straightforward, as long as the function is repeatedly differentiable. The secret is to find derivatives of every order and evaluate them at  $x = a$ .

Suppose  $f(x) = \sum_{n=0}^{\infty} [c_n \cdot (x-a)^n]$ , take the  $m^{\text{th}}$  derivative, and plug in  $x = a$ :

$$f^{(m)}(a) = \sum_{n=0}^{\infty} \frac{d^m}{dx^m} [c_n \cdot (x-a)^n] \Big|_{x=a}$$

For all  $n < m$ ,  $\frac{d^m}{dx^m} [c_n \cdot (x-a)^n] = 0$ , so when you plug in  $x = a$  it's still 0.

For all  $n > m$ ,  $\frac{d^m}{dx^m} [c_n \cdot (x-a)^n] = \frac{n!}{(n-m)!} \cdot c_n \cdot (x-a)^{n-m}$ , with  $n-m > 0$ . So when you plug in  $x = a$ , you get  $\frac{n!}{(n-m)!} \cdot c_n \cdot (a-a)^{n-m} = 0$ .

Finally, when  $n = m$ ,  $\frac{d^m}{dx^m} [c_n \cdot (x-a)^n] = n! \cdot c_n \cdot (x-a)^0 = n! \cdot c_n = m! \cdot c_m$ .

Putting this all together, we see that  $f^{(m)}(a) = m! \cdot c_m$ .

Therefore,  $c_m = \frac{f^{(m)}(a)}{m!}$ .

**Conclusion:** If a function  $f(x)$  with derivatives of every order may be represented by a power series centered at  $x = a$  on some interval  $I$ , then that power series is

$$f(x) = \sum_{n=0}^{\infty} \frac{f^{(n)}(a)}{n!} \cdot (x-a)^n,$$

where the series converges on the interval  $I$ .

Notice the "I" in the last sentence. There are functions that are not equal to the sum of their Taylor series, even if the series converges. We are not going to deal with such functions in this lab.

#### Example 2

Find the Taylor series of  $f(x) = e^x$  centered at  $x = 0$  (Taylor series centered at 0 are also called Maclaurin series).

We know  $f^{(n)}(x) = f(x) = e^x$  in this case. Since  $e^0 = 1$ , we have  $f^{(n)}(0) = 1$  for all  $n$ .

Thus,  $c_n = \frac{1}{n!}$ .

If  $e^x$  equals the sum of its Taylor series, then  $e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!}$ . For this particular function, the Taylor series converges for all  $x$ , and  $e^x$  does equal the sum of the series (take my word for it).

### Taylor Polynomials

The partial sums of a Taylor series are actual polynomials, called **Taylor polynomials**. In other words, the Taylor polynomial of degree  $n$  is  $\sum_{k=0}^n \frac{f^{(k)}(a)}{k!} (x-a)^k$ .

We can approximate a Taylor series to whatever level of accuracy we want by using a Taylor polynomial of high enough degree.

Note: If  $f^{(n)}(a) = 0$ , then this polynomial will actually have degree less than  $n$ .

Notice that the Taylor polynomial of degree 1 is  $\sum_{n=0}^1 \frac{f^{(n)}(a)}{n!} (x-a)^n = \frac{f^{(0)}(a)}{0!} (x-a)^0 + \frac{f^{(1)}(a)}{1!} (x-a)^1 = f(a) + f'(a)(x-a)$ .

Does this look familiar? It should! This is an equation for the tangent line to  $f$  at  $a$ . In other words, Taylor polynomials are generalizations of the tangent line to higher degree polynomials.

Also note that the Taylor polynomial of degree 2 is  $\sum_{n=0}^2 \frac{f^{(n)}(a)}{n!} (x-a)^n =$

$$\frac{f^{(0)}(a)}{0!} (x-a)^0 + \frac{f^{(1)}(a)}{1!} (x-a)^1 + \frac{f^{(2)}(a)}{2!} (x-a)^2 =$$
$$f(a) + f'(a)(x-a) + \frac{f''(a)}{2} (x-a)^2$$



$$\frac{1}{1307674368000} x^{12} + \frac{1}{6227020800} x^{11} - \frac{1}{39916800} x^{10} + \frac{1}{362880} x^9 - \frac{1}{5040} x^7 + \frac{1}{120} x^6 - \frac{1}{6} x^5 + x$$

29 show(taylor(sin(x),x,-pi,15))

$$-\pi + \frac{1}{1307674368000} (\pi+x)^{10} - \frac{1}{6227020800} (\pi+x)^{11} + \frac{1}{39916800} (\pi+x)^{12} - \frac{1}{362880} (\pi+x)^9 + \frac{1}{5040} (\pi+x)^7 - \frac{1}{120} (\pi+x)^5 + \frac{1}{6} (\pi+x)^3 - x$$

30 show(taylor(sin(x),x,pi,15))

$$x - \frac{1}{1307674368000} (\pi-x)^{10} + \frac{1}{6227020800} (\pi-x)^{11} - \frac{1}{39916800} (\pi-x)^{12} + \frac{1}{362880} (\pi-x)^9 - \frac{1}{5040} (\pi-x)^7 + \frac{1}{120} (\pi-x)^5 - \frac{1}{6} (\pi-x)^3 + x$$

Notice that some of the coefficients (the  $c_i$ ) are 0 in this example.

### Example 6

Find the Taylor polynomials of  $\cos(x)$  centered at  $x = 0$  of degrees 5, 10, and 15.

31 show(taylor(cos(x),x,0,5))

32 show(taylor(cos(x),x,0,10))

33 show(taylor(cos(x),x,0,15))

### Example 7

Find the 10th-degree Taylor polynomial centered at  $x = 0$  of  $f(x) = \frac{c}{1-x}$ .

34 var c

35 show(taylor(c/(1-x),x,0,10))

$$cx^{10} + cx^9 + cx^8 + cx^7 + cx^6 + cx^5 + cx^4 + cx^3 + cx^2 + cx + c$$

Here's a graph of this one for  $c = 1$ .

36 plot(taylor(1/(1-x),x,0,10))yplot(1/(1-x),color='black',ymax=6,ymin=0)

